ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



3 1 6 S 4 3 fa 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION - LOC DIST

REVISTONS

© COPYRIGHT - By - ALL RIGHTS RESERVED.

P LTR DESCRIPTION DATE DWN APVD

M REV PER ECO 16-003731 3-14-16 | CT | RG

~— | 530L.013  —

[38.871+0.33]
600 PLC
e 3.260+.015 —
[872.8+0.38] - | 367+ 004 -]
[34.59+0. 1]
6 PLC A
. 130 g . 130 - | 338 MAX —mme @ .300 REF
o o A A
4 PLC
STANDOFF FOR P.C.BOARD MOUNTING
— 186+ .002 125 — - WITH M3 X 0.5mm THREADED \NgEE[g
(4. 72+0.05] [3.18]
SQUARE
(. N\ _/_ ‘ (
o Floflo O iin @%@@c A
Al CAVITY— yco Electronics | — ’-%_04&.03
IDENTIF ICAT ION (7 \V7Z N\ [1.2140.33] B ] .
%«aocccecca ‘0000000000) s S (STANDOFF TO Peeeeeeees eegeeeeees
ee00000000® eee000000®0® = C/L OF EON) \ OO;OOOOOOO OOOOOOOgOO /
e0000Q0@0@@@ 00000 Q0@P@@@ fr=— 000000000 000000000
000000 P@@® e00e0PPeee@@® = 000000000 000000000
0000000 @P@@@® 000000 @P@@® fr=— 000000000 000000000
000000 @@® 000000 @@® r=— 2000000000 2000000000
000000000 eee0000000| |[— = _|geeeeeeeee o00PePePes| A
Al jssssssasy || asssassss (9 ' = ssgssﬁssss :8::3?8%88
e0000P@@@@ eeeeeeeee®| |[ — - = CECLLLEEE CECEEEEEE
ssssssssss) ||| (ssssssssssl ||| (oo * = Secesosses  |osgeccees
ssssssssssl ||| jssssssssssl || L = gicgesccss  |ocgesccses
eeee0ee@@0 00000000 ®0 + — @ LTI LI CILL LI LI L) @>
7( i\ 7 J— \7 ~ | 1 ~ 1 ! lﬁ
sessssssse) ||| (ee3sessass b = " [Beeeesgese]  [eeesgececs
00000000 @® 00000000 @®® r— 0000000008 2000000008
000000000 @® 000000000 @® 825 r— 0050000000 0000000500
00000000 @0® 0000000000 [20.96] r=— 00000000080 00000000080
0000000000 eeeeeeeeee| || 7 r— OOgOOOOOOO OOOOOOO?OO
X Xy Xy v r— 0000000008 0000000008
B 000000000 @® eeeee0e0000!| |(E 6.617£.010 J ‘ P E |88 Oﬁ”” OOOOﬁO C-UA
sssssissssl ||| |ssssssasesl | = goceiossss  (essggescs
sssassassal ||| [sssessasss = B Sogmgsmsse |sssmssmsse SRS
[176.914+0.25] '
000000000 0000000000 K r— 8000808080 8000000008 6 PLC
eeeeeeeeee@® eeeeeeee@@@® = OOgOOOOOOO 0000000500
\Lgcccoocccyj \Lgcccccccccy YT - r— CIL LTI LI L) PO00000008
AN K NS / (81.92] | —
A — O A - o660 |
e e Y 8 o —q
M3 X 0.5 i @%P
CLINCH NUT % | \\f_ | \\ I S — '
10 PLC [O‘©5©7 M) (- ) 0
6 5
O _8 _7 | K
at =< il L ' f + ¢ 2,13
'3? 2 177 REF - | ”@ '3@ AL
\L‘- ‘ -’Jj \L— ‘ —Jj 360@002 R ' “ O
K /K / Ptg_z&o.om i ] :
O O[]0, O ¢ i 9( G@ @ k '
\ gila / vy L v alis
~t— (000 t
1864+ .007 —— - @.095&%0 155 J . [| 52] O 5 (m— . 360
[4.724+0.05] [2 540 02] : [16.51] (9. 14]
: - [1].56]
/N ALIGNMENT HOLE 2 PLC 6 PLC
—~— | (/5 _—
- 4704002 L2731
[11.944+0.05] ——— | 950 —
[49.53]
3 PLC
H@ e
- 2. 886 —
[ 713.3]
3 PLC
00" 2101002-3
00" 21010021
KEYING
POS I T1ON PART NO.
THIS DRAWING 1S A CONTROLLED DOCUMENT. DWCN.C.THOMAS 10-29-08 —-TE B
DIMENSIONS: TOLERANCES UNLESS CHKHOGAN ‘0729708 b— y
INCHES [ SRS SRR 1 o T ™ pepT ASSY SIZE 3 ARINC 600
0o T PRODFCTSPEC (15071507 13C2 SPCL/I50/150/EMPTY)
@ %EEE %:005 L. 13] ArPLICATION SPEE SIZE CAGE CODE | DRAWING NO : RESTRICTED TO
MATERIAL AF%BILSEHS ] = WEIGiHT 485 Grams AW 00779@:2‘0‘002
- B CUSTOMER DRAW‘NG SCALE 32 SHEET ‘ OF2 REV M

4805 (3/11)




3 1 6 S 4 3 fa 1

THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION 20 LOC DIST R EV IS IOP@S
<:> COPYRIGHT 20 BY - AL RIGHTS RESERVED. - - p LTR DESCRIPTION DATE DWN APVD
SEE SHEET |
| RECEPTACLE IS INTERMATEABLE TO ARINC 600 STYLE SIZE 3 PLUG ASSEMBLY
zﬁl ASSEMBLED CONNECTOR FEATURES COMPLY WITH ARINC 600 SPECIFICATION EXCEPT AS NOTED.
3. THE FOLLOWING FILLER PLUGS FOR THE 13C2 INSERT ARE AVAILABLE, BUT NOT PROVIDED:
SIZE 12 FILLER PLUG, TE PART NO. 1663767-4
SIZE 16 FILLER PLUG, TE PART NO. 1663767-3 130 130
SIZE 20 FILLER PLUG, TE PART NO. 1663767-2 - -
[ 18.54] - L 18.54]
4. ASSEMBLED CONNECTOR IS IN AGREEMENT, AS NOTED, WITH THALES TECHNICAL
PROCUREMENT SPECIFICATION J54625AA-REV-02 AND CUSTOMER PURCHASING
REQUIREMENTS SPECIFICATION 128-1089. PCB STANDOFF (REF)
zﬁl THE FOLLOWING POSTED PIN CONTACTS FOR THE 13C2 INSERT 6 PLC
ARE AVAILABLE BUT NOT INCLUDED. - - [00 TYP
(5A) THE MINIMUM POST EXTENSION BEYOND STANDOFF IS: .160 [4. 061, NOMINAL HOLE DIAMETER [0 547
(5B) MAXIMUM POST EXTENSION FROM FRONT FACE IS 1.579 [40. 11 |
THE CONTACTS ARE RoHS COMPLIANT: SN-DIPPED. 0.90 mm PER |EC 060352-5 (4 PLC)
SIZE 12 POSTED PIN CONTACT, TE PART NO. 2-448140-3
SIZE 16 POSTED PIN CONTACT, TE PART NO. 3-448139-4 FOR 150 POSN. INSERT Y-
SIZE 20 POSTED PIN CONTACT, TE PART NO. 3-448138-2 600 HOLES - 050
zﬁl MANUFACTURERS PART NO. AND DATE CODE (YY-WW) MARKED IN AREA SHOWN. D |P.005]X]|Y [ .27]
7. ESTIMATED WEIGHT OF CONNECTOR ASSEMBLY AS SHOWN: 485 GRAMS . '_ _ ! @)) Al
8. MAX LOCKING TORQUE FOR M3 CLINCH NUTS: 0.34 N-m (3.0 in-lbf) | ||
MAX LOCKING TORQUE FOR M3 THREADED INSERTS: 0 .45 N-m (4.0 in-1Ibf) | | |
MAX LOCKING TORQUE IS VALID FOR FIRST CYCLE ONLY. MAX LOCKING l L 100 TYP
TORQUE REFERS TO THE TORQUE REQUIRED TO OVERCOME THE LOCKING oot igggggg °1 (2 547
FEATURE OF THE CLINCH NUT OR THREADED INSERT. TORQUE VALUES > 090 D OSB I ¢ D GO M ¢ (4 PLC)
ARE FOR REFERENCE ONLY. ‘ 409000000 0% | -¢-oooo|oo o-¢-
9. CONDUCTIVE DUST COVER INSTALLED FOR SHIPPING. (NOT SHOWN) 193.09] iﬁ%ﬁﬁﬁﬁﬁﬁiﬁ iﬁﬁﬁﬁﬁﬁ%ﬁi
' ' 4090000004 4000000004
0. EYE OF THE NEEDLE CONTACT DESIGN CONSIDERATIONS : R 99040006 SRS SSSSOOS S6 (i
(D) ¥ b ¢ | e
(A) PCB HOLE DIAMETER: 0.90mm PER IEC 60352-5 4040000004 bo0o0o0o0oobod (A)
(B) MININUM PCB THICKNESS: .063 [I.6] 40000000 0% 40000000 0% 875
(C) PCB PLATING: Sn PLATE RECOMMENDED Todoclesot Toooolestd N 50 98]
(D) NORMAL INSERTION FORCE: 8 Ib MAX PER CONTACT: 406000000 | Hoooooosod :
900 Ib AVERAGE PER 150 POSITION INSERT ASSEMBLY Y -#o%<>oo<>oo¢- 400000 Y
ZAL KEYING SHOWN IN POSITION "01" FOR REFERENCE ONLY. KEYING A A K- boboolooootm |  booooloobot® A
HARDWARE IS INCLUDED BUT SHIPPED UNASSEMBLED. 4090000004 400000000
iﬁiﬁiiﬁiﬁi D SOSELES S ¢
2. CONNECTOR PACKAGING SHALL HAVE A LABEL WHICH WILL INCLUDE, 400000000t 400000000
AT A MINIMUM, THE THALES PART NUMBER, THE TE CONNECTIVITY iﬁdﬁﬁﬁﬁﬁﬁi iﬁﬁﬁﬁﬁﬁbﬁi
PART NUMBER AND THE MANUFACTURING DATE CODE. _ _éeiﬂa&e@ QD SEOSORS 56 SN 3.209
L2 D 1L C JANATAY = L | AC DN LN N [N A D20 i®) DL HEVAN L AN AL [ N T (E) '¢'O OOOOOO'¢' -¢-oooooo o-¢- (B) [8‘ . 92}
S e P e e 2130 oosopcest | Isosocicy
TN Torm UN ONnNCLLE ANDU WL TATNLCN FCATLO . [54‘0} _¢_o oooooo_¢_ _¢_oooooo o_¢_
90000000 04 [ 90000000 04
TE LOGO APPEARS IN THIS APPROXIMATE LOCATION $0300]000 04 4000000 b ot
ON SHELLS MACHINED FROM BILLET. -é-oToooooo-é- -é-ooooooc\:o-é— 825
5. ASSEMBLY SHOWN WITH DIE-CAST SHELL. ASSEMBLIES WITH B | | (70 96 ]
MACHINED SHELLS MAY VARY SLIGHTLY IN APPERANCE . | |
@ | _’__@ MIN HOLE DIAMETER
4 260 | TN SZ 12 (POS 2,3,7 & 8) = .098 [2.49]
| K | T S/ 16 (POS 1) = 065 [I.65]
120 REF L 108.20] Y | 50\ SZ 20 (POS 4 & 6) = 045 [1.14]
090  REF [3 04] | ’| ® o .
L. 29 TO CENTER | - N \
PRE- INSERT ION oF FYF _ L elel . Y
LENGTH U /
i (F) | . T (C)
| \ | ‘
¢ | . / 420
~. / 3 (10,671
, Y T
SCALE 2ot ‘ S ‘ 370 @
BODY: 000050 [I.27uml MIN [9.40]
GOLD ON MATING TINES,
SIZE 22 SOCKET CONTACTS BODY: COPPER ALLOY Sn ON EON TAIL, BOTH N R NOUE e o . 230
QTY = 600 o\ 5. 84]
HOOD: STAINLESS STEEL OVER NICKEL PLATE 975 975 7 8
HOOD: PASSIVATED (24777 —— (24 77 090 ——+) CE)
ONE PIECE DESIGN [2.29]
50 POSATPSQ INSERT THERMOPLASTIC NONE WITH NON-REMOVABLE 3 PLC 3 PLC | 000
CONTACTS | [ 0]
Mo THREAR D TR STAINLESS STEEL DRY FILM LUBRICANT NEL o
M3 CLINCH NUTS /INC PLATED WITH SUPP [3.05]
0 PLC STEEL YELLOW TRIVALENT CHROMATE RECOMMENED P.C. BOARD LAYOUI
MODIFIED TO SCALE NTS = I L= S I =S 20
3C2 INSERT ASSY PERMANENTLY CLOSE (BACK VIEW) — | |oo| |Z ™ ©
"RONT RELEASE/REMOVE THERMOSET NONE CAVITIES |, 5. 9. 10, - ‘ - o
12 & 13 — — —
FOR - |
CHROMATE CONVERSION
SHELL & ALUMINUM_ALLOY PER ASTM B 89 TiEE M,LCEASQAA THIS DRAWING IS A CONTROLLED DOCUMENT. DWCN.C.THOMAS 10-29-08 - -
OR ASTM B 21| , 60601 T6 ~ CHK [0-20-08 ——TE TE Connectivity
RETENT‘ON PLATES OR ASTM B 209 EOEATA FOR 3 DIMENSIONS: TOLERANCES UNLESS K. HOGAN
’ CHROMATE CONVERSION NCHES [m ] THEMISE PRI ) oSO RepT ASSY SIZE 3. ARINC 600
PER MIL-C-554] e e Propuct spec (150/150/13C2 SPCL/150/150/EMPTY)
T Y P E ‘ ‘ 7’ C L AS S 3 @E g itg iTOO5 [0.13] APPL}CATION SPEC B
COMPONENT MATERITAL FINISH REMARKS T e e 485 Groms AWOO779@?Q‘OWOE -
N N CUSTOMER DRAWING SCALE ‘:‘ SHEET 2 OF2 REVM

4805 (3/11)



	Contact us
	Sheet 1
	Views
	new_view_26
	right_27
	left_28


	Sheet 2
	Views
	new_view_24



